4 3 fa W
- P e REVISIONS
@ COPYRIGHT 2002 ALLE RECHTE VORBEHALTEN - - A‘ - P LTR DESCRIPTION DATE DWN | APVD
BE SCHRE 1BUNG
O ertowsel B | ITEM L MOUNTING SCREW CHANGED 03FEB2006 | SH | RK
BZ REVISED PER EC0-09-027197 18DEC2009 | KK |AEG
B3 ECR-11-006877 070072011 | RK  |KMA

\

L7

PACKING UNIT

15

e —

PARTS PACKED LOOSE PIECE INTO MINIGRIP BAG

10 MINIGRIP BAGS PACKED

INTO FOLDING BOX

7 MINIMUM ORDER QTY 120 PIECES
E} VERPACKUNGSEINHEIT: TEILE LOSE IN PLASTIKBEUTEL VERPACKT
= 10 PLASTIKBEUTEL IN FALTSCHACHTEL VERPACKT
2 MINDESTBESTELLMENGE 120 ST UCK
g - 6 HEXAGON SOCKET HEAD SCREW ZINC PLATED STEEL
SCHRAUBE IMT INNENSECHSKANT UNC 4-40 VERZINKT STAHL
1 C TAPTITE-SCREW M2.5x8 ii ZINC PLATED STEEL
TAPTITE-SCHRAUBE M2.5x8 VERZINKT STAHL
| 2 I MOUNTING SCREW UNC 4-L40 ZINC PLATED STEEL
ﬂS}A 808 MONTAGESCHRAUBE UNC 4-40 VERZINKT STAHL
1 3 DUMMY PLATE PLAIN STEEL
BLINDPLATTE BLANK STAHL
INNER -, QUTER FERRULE AND CABLE ARE NOT SUPPLIED IN THE DELIVERY
' COVER HALF (UPPER PART) PLAIN
INNEN -, AUSSEN FERRUL UND KABEL NICHT IM LIEFERUMFANG ENTHALTEN 1 2 | ke e e e G0 - 7n
1| 4 |COVER HALF (LOWER PART) PLAIN a0 - 7n
Lﬁl CROSS RECESSED READ PUNCHES Z PLUS-MINUS OR PLUS (POZIDRIV) KAPPENHAELFTE (UNTERTEIL) BLANK
KREUZSCHLITZSTEMPEL /Z PLUS-MINUS ODER PLUS (POZIDRIV) T SURFACE
ORDER NO. ot POS. DESCRIPTION OBERFLALCHE MATERIAL
A OBSOLETE PARTS: OBSOLETE CIS STREAMLINING PER D.RENAUD/D.SINISI . PSRBT BENENNUNG
BESTELL-NR. COLOUR/FARBE
OUTER FERRULE e ST PTTINZ007
AUSSEN FERRUL FERRLLE e oo o weme mmer | M.Bollenpach =TE = oo
CABLE & INNER FERRULE | OUTER FERRULE e e D I I i 24 JUNZ002 — y
KABEL & INNEN FERRUL | AUSSEN FERRUL  DIVENSONS. (TOLERANCES UNLESS ™ |0 rdemer STINT007 e
L.83-6.10 |2-745 129-1| 745 130-8 mm ALLGEME INTOLERANZEN P%Egg;ﬂgw HO20 - COVER KIT (15 POS.)
5.84-7.11 |3-745 129-2 |1-745 130-6 R o PR, 08801 HD20 - KAPPENKIT (15 POL.)
7.672-8.89 12-745 1729-0 745 130-9 {:::::E}{EE} é Eﬁ igﬂB APPLICATION SPEC FOR FERRULES / FUER FERRULE
4 PLC + VERARBE | TUNGSSPEZ, SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
9.65-10.92 |1-745 129-9 | 1-745 130-1 ANGLES/WINKEL ] 114-16564-1 AB 6%%3%« NUR FUER
- MATERTAL _ FINISH/OBERFL@EEHE/FARBE WEIGHT B 00779 :453@808 _
INNER FERRULE S VSR ST e /] L
INNEN FERRUL CUSTOMER DRAW ING /KUNDENZEICHNUNG |uisssta) -] Jaarr 1 ow] R3

1470-19 (3/11)

Pro/ENGINEER DRAW ING




